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1/40
ZEDMAICESIE (Measure) FER, {R&{FERBFHIE?

Which tool is used in the Measure phase of DMAIC?

A) SIPOC
SIPOC

B) TMEIRMEME (Standard Operating Procedure)
Standard Operating Procedure

<) AlllE

Ishikawa Diagram

D) MERE (Value Stream Map)
Value Stream Map

2/40
I ARN— A RIS TR BRI EE?

Why is empowering the frontline employees essential in a Lean IT organization?

A) FEN—EEEmEr BN
Because the frontline is part of the primary process
B) FIF—Z&ARKIEIFNR
To make use of the frontline employees’ professional knowledge

C) HR—EARTHEEPEK

To ensure that the frontline employees have knowledge of the customer needs

D) EA—%BEEEEN

Because the frontline has its own autonomy

3/40
HPHLESHEBEIR (Kanban) R&?

Why should a Kanban system be introduced?

A) E=HFTTIERYSED

To control the initiation of new work
B) KELFKHNIARSTTRL

To visualize what has been developed

C) EESFUNERE

To manage the inventory of incidents

D) MaRANETEATIFERTT

To ensure that no units of work are forgotten

EXINLean IT Zi# % EXIN Lean IT Foundation (LEAN|TFCH)
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4/40
THZRFEE (Pareto chart) BRfA4?

What does a Pareto chart display?

A) MMERDHT
An analysis of value stream flow
B) FREESDHE
The distribution of product quality
C) BHRREBMIEFAIALL
The percentages of the various types of waste in a process

D) MRV INIIRFHEF I SERRRECR A E

The causes of a problem or condition from large to small contribution

5/40
—INENRAEA N E (k) JFE(EESN (Necessary Non-Value-Added) (NNVA) ?

Which activity should be described as Necessary Non-Value-Added (NNVA)?

A) BT
Rework
B) M55
Finance
C) TELE
Overproduction
D) FfFHdIA)
Waiting time

6/40
{RETEDMAICHIDHT (Analyze) FERfEREFTTR?

What tool is used in the Analyze phase of DMAIC?

A) SIPOC
SIPOC

B) AJIIE

Ishikawa Diagram
C) M{ERE (Value Stream Map)
Value Stream Map

D) XH$ERESFME (Critical to Quality)
Critical to Quality

EXINLean IT Zi# % EXIN Lean IT Foundation (LEAN|TFCH)
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7/ 40
FRERMR (Skills and Knowledge) SrHIFEERIEMA?

What is an important objective of a Skills & Knowledge analysis?

A) MK

Personal development
B) PR

Balance demand and supply
C) REHHEERTR

Improve skills and knowledge
D) 1EINREHSE

Increase flexibility

8/40
"BEBZS" (Valley of Despair) BRAEMtARBR FHIL?

When does the ‘Valley of Despair’ occur?

A) EEEREELLINBR
The moment when management decide to stop the project
B) JCALPMEMNESISEIELIUS=AY (Perfection) REGZERENIES
When it is clear that the changes will not achieve the lean principle of perfection
C) JBARTHRABESHLIFATURET R
When people understand the changes to the way they work due to Lean
D) ZASXIHENRE A IIMRE B TR

When people become despondent with the lack of success regarding the change

9/40
FERIEhE A= (Pull System) o, ==t (Empty spot) FRRfHARRE?

In a Pull system, what does an empty slot mean?

A) FREMR (Kanban) 5%

It means that Kanban doesn't work
B) FAEZHIEIRR

It means there is a problem down the production line
C) ZRtMEES

It is a replenishment signal
D) 5%4T (Andon) —#f

It is the same as Andon

EXINLean IT Zi# % EXIN Lean IT Foundation (LEAN|TFCH) 7
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10/ 40
ESRTHISEE (Performance Dialogue) iS72eh, ZRIEARRK N BPLAERR?

Which topics should not be covered by the manager during a performance dialogue with
an employee?

A) HeRTRIFTERIEE BiR
Discussing new and ongoing objectives for the employee
B) ARTFemEBMEHF
Offering support to the employee to enable them to meet their objectives
C) SRTITIEHRLSE, (EHEESAEIER
Discussing solutions with the employee to enable them to meet their objectives
D) MRTAFMSATHETFRIR
Giving feedback on how the employee performed or behaved

11/40
B— N REAE AR RERE TR?

What is a Lean tool to investigate the root cause of problems?

A) 3MNAH4A (3 Whys)
3 Whys

B) 41Aft4 (4 Whys)
4 Whys

C) 54 (5 Whys)
5 Whys

D) 61N/aft4 (6 Whys)
6 Whys

12/40
FHSEABDRBHKELX (Fujio Cho) FHXIEmMSSI (Lean Leadership) RHEXHEITI.

BIREHA?
Chairman Cho of Toyota had a key message regarding Lean Leadership.
What was this key message?

A) BEFRAER BN

Define strategic goals
B) FFUAENR, REAHA, RALEE

Go see, ask why, show respect
C) BRE[F2RRURSES

Ensure active participation of everyone in the organization
D) IFRTIAFAMRRICIRREE

Support employees to develop problem-solving skills

EiR#4 EXIN Lean IT Foundation (LEANITF.CH)
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BU# (Improve) MEREVBERZEMHA?

What is an objective of the Improve phase?

A) #HEmfEsFitkl (Process Control Plan)
Develop Process Control Plans

B) RESCINHLH
Make quick-hit improvements
C) CHEfFIRTTZ
Implement solutions
D) SISk (High-Level) FiiEE
Create high-level process map

14 / 40
B— AR EIREE (Waste) F2z?

What is not a form of waste?

A) TEERG TR T —FRETE

Passing on work to the next-in-line without explanation

B) MRIRZEF

Solving an incident
C) BRI S

Implementing unauthorized changes
D) EI&ZRF

Training end-users

15/40
IR mE T PREERT?

What is the most important behavior within Lean?

A) F
Learning
B) it
Talking
O Wy
Listening
D) &

Seeing

=%IN
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16 /40
B—RIRZER?

What is a form of waste?

A) BIHIRIE

Programming software
B) RitfIEEmMAITX!

Creating and managing a project plan
C) WERFIE

Defining system specifications
D) EEEEFZZR

Managing the list of inventory changes

17/ 40
B—FMEEIEEE T 185 AR S TR W EKPI?

What board contains all necessary KPIs needed to steer the organization?

A) HiSE4E (Day board)
Day board

B) ESEtE (Week board)
Week board

C) A{EE1E (Month board)
Month board

D) XZE(EEE (Improvement board)
Improvement board

18 /40
THB—NTEAI AT 7 S EEsRFE2eRIAd )7

=%IN

What tool would be used to understand how much time is spent on value-added activities?

A) DMAIC
DMAIC

B) SIPOC
SIPOC

C) PCE
PCE

D) fEk#Em (Critical to Quality)
Critical to Quality

EiR#4 EXIN Lean IT Foundation (LEANITF.CH)
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19/40
THIB—iE RS RIRE N ?

What is a principle of Lean?

A) HERNIEF
The organization should be profitable
B) fMEEREFEX
Value is defined by the customer
C) RTHE
Employees are satisfied
D) ZFHE
Customers are satisfied

20/ 40
THUB—IAE T KPIRYERSES?

What is not a requirement for a KPI?

A) STHEFEBRIAT

Supports execution of the strategy
B) E{AELRFRIF—E

Consistent across the organization
C) HBEEEN

Should be owned by the manager

D) EIEEIRAI=H]
Controllable by the team

21/ 40
HARITERRRBEER?

What is the key production factor within IT?

A) RE
Quality

B) HJE]
Time

) =%
Money

D) Bk

Services

=%IN
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22 /40
fErgmietY (Lean transformation) =1, ITAMAAIEE(CZEERIER?

In a Lean transformation, how can IT serve as a major catalyst for change?

A) =REBFERK

Everyone needs computers

B) ER{ERFETBINER (Value Stream)
Information enables all Value Streams

C) EEMIEAEXEER

Access to the Internet is vital

D) ITSETEARSHEX

IT touches everyone

23/40
FREEFIAMRA (S&K) DHTHIERIRMHA?

What is the purpose of a Skills & Knowledge (S&K) analysis?

A) FIESHEERMRERII N AKRREITX (Personal Development Plan)
Produce Personal Development Plans aligned to S&K

B) REREPBERMAERNASEINERER K>
Enable segregation of duties according to customer demands and S&K

C) HRIERTRFIEFREERIR

Develop S&K in line with employee preferences

D) IBFRBIBHIREENNR, HEZ X TR ERVERE

=%IN

Develop the right amount of S&K to provide the value that customers expect from IT

24 /40
THB—IABEHSEED (Value-Added activity) ?

What is not a Value-Added activity?

A) thiESEHRRR
Coordinating an incident resolution
B) FESImSHT
Carrying out an impact analysis
C) #EImAIt!
Creating a project plan
D) {44miz

Programming software

EXINLean IT Zi# % EXIN Lean IT Foundation (LEAN|TFCH)
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25/40
B—IAR R AEm ER?

Which is not a goal of Lean?

A) BHEFNE

Improving customer value
B) et

Continual improvement
C) BRE

Reducing waste
D) #&F)iE

Increasing profits

26 /40
it (Flow) SMEIfELRERAL?

How does Flow simplify demand planning?

A) ELHREMLIER

By freezing the planning horizon
B) EITHEEZFHEK

By meeting customer needs
C) BiSYaraAikIHEn

By shortening the planning horizon
D) BIEVHITAIlE

By removing wasted effort

27 / 40
B (Kanban) ~EEIERMTA?

What is the purpose of a Kanban card?

A) BEFEEREERS S

To communicate the status of the product or service to the customer
B) @I EFHImEiRSS IR

To inform the process about the progress of the product or service
C) KIEPHRREIRIL

To visualize the loop holes in the process

D) EBRARSHIERHENALEDRS

A manual back-up system for if the computer system fails

=%IN
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28 /40
B—IERE AR RIEE T M HEK?

What is most likely to be a customer requirement for a specified product?

A) SRHNE
The product is built in an efficient way

B) {RAAHIE
The product is cheap to build

C) XZHAZE
The product meets expectations

D) BRSZAISEE

The product is reliable in service

29/40
B—EIEFXIidE (Overburden) (Muri) BIENX?

What is a definition of overburden (Muri)?

A) ZIBFERZEHL
Managers are not able to plan correctly
B) BT ARTIEEARIEDR, TiEHEZFER
Inability to meet customer demand due unrealistic workloads on people
C) RIAHET—LI/E
Employees are uncertain what to do next
D) s REZES EIHKRSTHRAERR

Long system upgrade cycles encouraging user workarounds

30/40
PR =PRSS P EMAIIE?

Which list contains examples of what a customer values in a service?

A) Mg, ETERMERIRATE
Pricing, Reliability and Timeliness
B) &it. I0REM (features) FORAIARME
Design, Features and Availability
C) tUF. EMMEE
Innovation, Completeness and Operation
D) #&z(. BRI

Model, Achievement and Accuracy

=%IN
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31/40
B PNDMAICHERSFFEIRIESHT (Root Cause Analysis) ?

In which DMAIC phase would a Root Cause Analysis be carried out?

A) EX (Define) BER
Define

B) M= (Measure) FiE
Measure

C) o (Analyze) BHER
Analyze

D) &t (Improve) KBk
Improve

32/40
MEERPZF I BITERH P — TR,

AR A A IS S TR E RS iR ?
Learning from mistakes is one of the ways an IT organization can make progress.
Which of the following statements represents the Lean way of dealing with mistakes?

A) EITIREH, HMNRAZRAA, BRICHE

In IT, we are only human, we all make mistakes
B) ITEEEWILTEHRTHRIUHTIE

IT management must focus on ensuring that improvement work is done
C) FER"E"RAIERILAIEICHER RE EEE

It is more important to know WHO made a mistake than WHY it occurred

D) ESATIrPMELUERICHE:, BiieTEM
Mistakes are an inevitable part of work, but must be taken seriously

33/40
IMERA BRI EEEERHA?

What is a major possible barrier for the value flow?

A) Muri
Muri

B) Poka-yoke
Poka-yoke

C) &t (Kanban)

Kanban

D) Bft (Jidoka)
Jidoka

EXINLean IT Zi# % EXIN Lean IT Foundation (LEAN|TFCH)
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34/40
CTQMHBERZEHA?

What is the CTQ tree used for?

A) ERMEITIMREPRIRZI RS EXREERIRARLS

To describe the technical systems that are critical within IT for delivering services

B) ITRRILIRF MM NEFINME

To translate the constraints in IT to customer value

C) KBEFHZEN AR EERNNEBEMTE

To translate customer expectations to measurable internal objectives and activities

D) #RIAEIEFMERFRAIXEEKPI
To describe critical KPIs necessary to meet customer value

35/40
% (Overburden) BIENXZEHA?

What is the definition of overburden?

A) FTIFRIEIRR

Incapability to solve problems
B) TEEEEERRREZFEX

Inability to meet customer demand with a certain resource
) ZFHEBERISHEERAR

Inability to manage people based on situational leadership
D) XITEAEIGAIIETRE T 7

Lack of understanding of the challenges of the IT organization

36 /40
BB—INAZE7 P85 (Six Sigma) RYB#FR?

What is not a specific objective of Six Sigma?

A) ST
Statistical analysis
B) fRIRIBIA
Problem solving
C) 1T
Behavior and attitude change
D) imbE L

Reduction of variation

EXINLean IT Zi# % EXIN Lean IT Foundation (LEAN|TFCH) 16
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37/ 40
P—IEEFZA (Voice of the Customer) (VoC) TEMIFEER?

What is a purpose of Voice of the Customer (VoC) tools?

A) FBREEFRIKREMTEIFIBRR
To set priorities and goals consistent with customer needs
B) Ak@EdHET NERREZREEFITRETIFRdu
To identify areas where work can be started on eliminating waste
C) FKRICRHAEAAERATREE
To document and categorize the costs associated with waste
D) FskinEfmVoCEAR ARIRCELER

To facilitate the feedback of summary results to VoC contacts

38/40
A TITEREMNS, RRIEEEmEr RS F NI EE?

Why is it important that IT management deeply understands the principles and methods of
Lean?

A) BIERITARSSHIAT T
To create sustainable improvements in IT services
B) AITEFRIEI TR
To quickly deliver results for IT customers
C) AITELNIEFPAEBR R
To set goals for the teams within IT
D) HRARRIKISATEREERYINME

To ensure shareholders get the value they expect

39/ 40
B—IESE(ERE (Improvement Board) FUMIAFIH{SERLE (Day Board) BYH#IH?

What is input of the improvement board and output of the day board?

A) %38 (Performance) 54 (Progress)
Performance & progress
B) HIRAKPI
Team KPlIs
C) =EBEMR
Objectives for the week
D) i@
Problems

EXINLean IT Zi# % EXIN Lean IT Foundation (LEAN|TFCH) 17




40/ 40
ETEERERD, REYRNREZRMTA?

When work is not done efficiently, what is most likely the cause?

A) IT
IT
B) R=WSH
Lack of leadership
C) mREXIE
Poor designed processes
D) R=ER
Lack of information

=%IN
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1/40
ZEDMAICESIE (Measure) FER, {R&{FERBFHIE?

Which tool is used in the Measure phase of DMAIC?

A) SIPOC
SIPOC

B) TMEIRMEME (Standard Operating Procedure)
Standard Operating Procedure

<) AlllE

Ishikawa Diagram

D) MERE (Value Stream Map)
Value Stream Map

A) iR, EEX (Define) BYER(ER,
Incorrect. SIPOC is used in the Define phase.
B) iHiR. EDHT (Analyze) MER(ER.
Incorrect. A Standard Operating Procedure is used in the Control phase.
C) i#&ix. BT (Improve) BYERAGIRESDHT.
Incorrect. The Ishikawa diagram is used in Improve phase for root cause analysis.
D) iFffs. FAAFICREENE.
Correct. The value Stream Map is used in the Measure phase as baseline measures on time,
quality, and cost.

Z1i:{#£% EXIN Lean IT Foundation (LEANITF.CH) 19
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2/40
I ARN— A RIS TR BRI EE?

Why is empowering the frontline employees essential in a Lean IT organization?

A)

B)

9]

D)

A)

B)

9]

D)

EA—&REEREAVEMERD

Because the frontline is part of the primary process

FIR—Z ARRIEIALR

To make use of the frontline employees’ professional knowledge

HR—EEAR THREPTEX

To ensure that the frontline employees have knowledge of the customer needs

EA—ZLEEEEN

Because the frontline has its own autonomy

HiR, XMUUEASIGEESEREAER. RN—SARNREZMMIEZFRIFER, THETIRE
EERENETEREEFRZME.

Incorrect. This is true but not relevant. The reason for empowering the frontline employees is
so they know what the customer wants and can deliver the value required without having to
gain permission from management.

Hix, BATWAIRAIGETHEE, BRTHEFFZENTHR=ITENEE,

Incorrect. Whilst professional knowledge may be important, knowledge of customer needs is
more important for Lean IT.

IEff, —SREFEMIIREET, —SARNEZFIEK, THREEEETFIRRISZMAENE.
Correct. The key to an effective frontline is that the frontline employees know what the
customer wants and can deliver the value required without having to gain permission from
management.

HiR, FMEEXME. —SREFEMHIREET, — S ARMBEZFHER, THRRGEERTFAIRIAR
TEREME.

Incorrect. This is not always true. The reason for an effective frontline is that the frontline
employees know what the customer wants and can deliver the value required without having
to gain permission from management.

EXINLean IT Zi# % EXIN Lean IT Foundation (LEAN|TFCH) 20
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3/40
HPHLESHEBEIR (Kanban) R&?

Why should a Kanban system be introduced?

A) E=HEFTTIERYEE)

To control the initiation of new work
B) KELFKHNIARSTTRL

To visualize what has been developed

C) EESFUNERE

To manage the inventory of incidents

D) MRANETEATIFERTT

To ensure that no units of work are forgotten

A) IEffs. B (Kanban) RFHRERIAIIFEERIR (Kanban) MRSz,
Correct. The Kanban system ensures that work can be scheduled and new work can be
initiated when the Kanban triggers it.

B) $HiR. ABIZUEFS (Pull System) (RBEF AL,
Incorrect. A pull system, like Kanban, does not specifically support development.

0 &R, &R (Kanban) FEEFEERE.

Incorrect. Kanban is not an inventory control system

D) tHiR. XHAZREAER (Kanban) NEERRE.

Incorrect. This can be a side effect of using Kanban

EXINLean IT Zi# % EXIN Lean IT Foundation (LEAN|TFCH) 21
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4/40
THZRFEE (Pareto chart) BRfA4?

What does a Pareto chart display?

A)

B)

9]

MERDHT

An analysis of value stream flow
FrRREDE

The distribution of product quality
BERRBAETEPAI S

The percentages of the various types of waste in a process

D) MRV INIIRFHEF I SERRRECR A E

A)

B)

9]

D)

The causes of a problem or condition from large to small contribution

Hix., MHZRIEE (Pareto chart) RMAKENNWINFRSERREAN AR,

Incorrect. The Pareto chart shows the causes of problem or condition order from large to
small contribution.

Hix., MHZRIEE (Pareto chart) RMAKENNWINFRSERREANTATEE,

Incorrect. The Pareto chart shows the causes of problem or condition order from large to
small contribution.

Hix., MHZRIEE (Pareto chart) RMAKENNWINFRRSERREANTATEE,

Incorrect. The Pareto chart shows the causes of problem or condition order from large to
small contribution.

IFff. PHERITE] (Pareto chart) IMAE NI RRSEIRRRECRTAIEE.,
Correct. The Pareto chart shows the causes of problem or condition order from large to small
contribution.

EXINLean IT Zi# % EXIN Lean IT Foundation (LEAN|TFCH) 22
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5/40
—InENRAEANE (k) JFEEESN (Necessary Non-Value-Added) (NNVA) ?

Which activity should be described as Necessary Non-Value-Added (NNVA)?

A) BT
Rework
B) M55
Finance
C) TELE
Overproduction
D) FfFHd(A)
Waiting time

A) iR, RIANEE.,
Incorrect. Rework does not add value.
B) IEf. MSENNVAEL,
Correct. Finance is an NNVA activity.
C) HiR, MEEFMNEE,
Incorrect. Over production does not add value.
D) &R, FiFAEIEE.
Incorrect. Waiting time does not add value.

6/40
{RSTEDMAICHIDHT (Analyze) FERfEREFTTH?

What tool is used in the Analyze phase of DMAIC?

A) SIPOC
SIPOC

B) AJIIE

Ishikawa Diagram
C) M{ERE (Value Stream Map)
Value Stream Map

D) XH$ERESFME (Critical to Quality)
Critical to Quality

A) EiR. EEX (Define) BER(ER.
Incorrect. SIPOC is used in the Define phase.
B) Efa. A)IBERESITIE,
Correct. An Ishikawa diagram is a root cause analysis tool and a primary deliverable in the
Analyze phase is the identification of the problems root causes and their priority.
C) i#&ix. ENE (Measure) BHER{ERA.
Incorrect. The VSM is used in the Measure phase.
D) $HiR. fENE (Measure) MER(ER.
Incorrect. CtQ is used in the Define phase.

EXINLean IT Zi# % EXIN Lean IT Foundation (LEAN|TFCH) 23
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7/40

%8

ExmA (Skills and Knowledge) S#f9EEBRIZMHA?

What is an important objective of a Skills & Knowledge analysis?

A)

B)

9]

D)

A)

B)

9]

D)

PANKE

Personal development
SEHTE

Balance demand and supply
EEAEATR

Improve skills and knowledge
IEINRiE

Increase flexibility

HiR. ESRDITENIT IARER, EAEEEBRN.

Incorrect. S&K analysis can contribute to personal development plans but is not the primary
purpose.

IEffs, BRI BRI R B P R MENRE,

Correct. Goal is to ensure the S&K available match what is needed to deliver the required
value to customers.

BiR. XARERSITHERMAREZERT.

Incorrect. This may be a result of the analysis but is not the primary purpose.

iR, XAIRE AR RMAEEEER/Y,

Incorrect. This may be a result of improving skills and knowledge but is not the primary
purpose.

EXINLean IT Zi# % EXIN Lean IT Foundation (LEAN|TFCH) 24
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8/40
"BEBZS" (Valley of Despair) BRAEMTARBR FHI?

When does the 'Valley of Despair’ occur?

A)

B)

9]

D)

A)

B)

9]

D)

EEERESLLTIRRY

The moment when management decide to stop the project
SCEPRREMNESISE T ARSI (Perfection) HREGEERENIES

When it is clear that the changes will not achieve the lean principle of perfection
IART BEBRSH T FATURER T

When people understand the changes to the way they work due to Lean
HASNIBEE R B N TRE B v

When people become despondent with the lack of success regarding the change

Hixm, X MHEEARERLIHAE MY LR REIKERIRNL.

Incorrect. It is the moment that people become disillusioned with a change in reaction to not
realizing the expectations.

Hix. REGeE (Perfection) BRLAAEI. EHRTIRBIAEFHAEEAIGTRLERR R
Incorrect. Perfection will never be achieved. It is the moment that people become disillusioned
with a change in reaction to not realizing the expectations.

Hix, EHTIRAEAEFEMEEAMINERKEARE

Incorrect. It is the moment that people become disillusioned with a change in reaction to not
realizing the expectations.

IFff, RETIEIAZFURES AR RLERIAH R

Correct. It is the moment that people become disillusioned with a change in reaction to not
realizing the expectations.

EXINLean IT Zi# % EXIN Lean IT Foundation (LEAN|TFCH) 25
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9/40
Rz (Pull System) &1, =& (Empty spot) FRHARR?

In a Pull system, what does an empty slot mean?

A)

B)

9]

D)

A)

B)

9]

D)

ZaiR (Kanban) 554

It means that Kanban doesn't work

REF LI TR

It means there is a problem down the production line
RIMEES

It is a replenishment signal

5%T (Andon) —#

It is the same as Andon

Hix. =t (Empty spot) AJREEMRZIRE, Bk (Kanban) RFAREEITINEIER

Incorrect. There may be any number of reasons that a slot is empty, the Kanban system may
be working perfectly

Hix, T (Empty spot) AIBEERZRE, £r-E&HE@ERsEE+F—NRE,

Incorrect. There may be any number of reasons that a slot is empty, a possible reason is a
problem in the production line

IFffs. ==t& (Empty spot) RIEERPFEXME,

Correct. An empty slot is always a sign that replenishment is required.

Hiz. &K (Andon) B— M RFHIERIREREE % EEERIES,

Incorrect. Andon is a signal related to stopping errors from being passed.
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ESRTHISEE (Performance Dialogue) iS72eh, ZRIEARRK N BPLAERR?

Which topics should not be covered by the manager during a performance dialogue with
an employee?

A) HeRTRIFTERIEE BiR
Discussing new and ongoing objectives for the employee
B) ARTFemEBMEHF
Offering support to the employee to enable them to meet their objectives
C) SRTITIEHRLSE, (EHEESAEIER
Discussing solutions with the employee to enable them to meet their objectives
D) MRTAFMSATHETFRIR
Giving feedback on how the employee performed or behaved

A) iR, XEGEENFE—L.
Incorrect. This is the first step in a performance dialogue.
B) &R, XEGINIENFE—E.
Incorrect. This is the second step in a performance dialogue.
C) IEffE, SABEXTIICHEBTRIARK, MIFTICEARS.
Correct. The performance dialogue is about discussing the achievement of agreed objectives,
not to discuss content such as solutions.

D) iR, XEEHMIRAI—IOE, EEFIBNE=F.
Incorrect. This is the third step in a performance dialogue.

11/40
B— N REAE AR RERE TR?

What is a Lean tool to investigate the root cause of problems?

A) 3MNAMH4A (3 Whys)
3 Whys

B) 41MAft4 (4 Whys)
4 Whys

C) 54 (5 Whys)
5 Whys

D) 6/1Nft4 (6 Whys)
6 Whys

A) iR, LTEWRASNMAHA (5 Whys)
Incorrect. The tool is called 5 Whys.

B) &R, WLTERASPAMHA (5 Whys)
Incorrect. The tool is called 5 Whys.

C) IEfs. WWTEFRASNAHA (5 Whys) .
Correct. The tool is called 5 Whys.

D) &R, WWITEMASNMAMHFA (5 Whys)
Incorrect. The tool is called 5 Whys.
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FHSEABRBHKELX (Fujio Cho) $HXIEmMSSI (Lean Leadership) RHEXHEITI.

BIREHA?
Chairman Cho of Toyota had a key message regarding Lean Leadership.
What was this key message?

A) BRHEAkER BTR
Define strategic goals
B) FFUAENR, REAHA, RRLEE
Go see, ask why, show respect
C) BRE[F2RRURSS
Ensure active participation of everyone in the organization
D) XIFRTIRFAMRRICIRREE
Support employees to develop problem-solving skills

A) EIR, XETHASIAE, XHFEFERSEATRREAIROAR.
Incorrect. This is an executive leadership responsibility. It was not the Toyota Chairman'’s key
message.

B) IEffs, XIERFHSREATSHIHEZMSIIREIIZOAS.
Correct. This is the key message from the Toyota Chairman regarding Lean Leadership.

C) iR, XEREmFNENK., XHIFFERSFLAARHAZORE.
Incorrect. This is a requirement of lean transformation. It was not the Toyota Chairman'’s key
message.

D) {&ix. XEEERRERE. XFAFFERSREATSREIRORE.
Incorrect. This is a management responsibility. It was not the Toyota Chairman’s key message.
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BU# (Improve) MEREVBERZEMHA?

What is an objective of the Improve phase?

A) #HlEREEET, (Process Control Plan)
Develop Process Control Plans
B) RESCINHLH
Make quick-hit improvements
C) SCHERRIRTSZR
Implement solutions
D) BUEASH (High-Level) itf2d
Create high-level process map
A) $EIR, fkEEHIITE) (Process Control Plan) 27EfE#H (Control) FERHE.
Incorrect. Process Control Plans are developed in the Control phase.
B) $HIR. RESLHISGHHIVENE (Measure) FiER.
Incorrect. Quick-hit improvements are made in the Measure phase.
C) IEHA. MERFSFEMEXH (Improve) BBERSCHE.
Correct. Solutions are implemented in the Improve phase.
D) $#iR. B (High-Level) FIZENEEN (Define) MERGIEE,
Incorrect. High-level process maps are created in the Define phase.
14/ 40

B— AR EIREE (Waste) F2z?

What is not a form of waste?

A)

B)

9]

D)

A)

B)

9]

D)

RIS TIFHeR N —RET 2

Passing on work to the next-in-line without explanation

RS

Solving an incident

SCHEARIRINEE

Implementing unauthorized changes
1) IRE R

Training end-users

Hix, XNENRESH F—FREFRILRIRE, EAYITTRETFMIERR,

Incorrect. This activity will lead to waste at the next-in-line station, since work will need to be
done to correct the problem(s).

Hix. FBRSMETIREE, N—FFHasANIZRE.

Incorrect. Solving an incident is waste; it should not have been there in the first place.

Hix. SLHERENEEANENMERINED.

Incorrect. Implementing unauthorized changes is not a Value-Add activity.

IEH. MRZAPRERIRTISGEERINMEEINE.

Correct. Giving knowledge and skills to end-users is a Value-Add activity.
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B—IE R mE P REERT?

What is the most important behavior within Lean?

A)

B)

9]

D)

A)

B)

9]

D)

2
Learning
i
Talking
W
Listening
&

Seeing

IEffs, KEmaEr- i AasaEesie, MmetHIE— U2 RS,

Correct. Lean is about continual improvement and the only way to improve is to keep
learning.

Hix. BEET. BESTOEE, BREABFEREENERITA.

Incorrect. It is important to explain goals, intentions, etc. but talking itself is not the most
important Lean behavior.

Hix. MITREN—TI+9ER, BRTASFEREEAETTA.

Incorrect. It is important to listen to what is going on but listening itself is not the most
important Lean behavior.

Hix, FIRWERENSETOEE, ENEFASFAREERIHETITH,

Incorrect. It is important to see what is happening but seeing itself is not the most important
Lean behavior.
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B—RIRZER?

What is a form of waste?

A) BIHIRIE

Programming software
B) RitfIEEmMAITX!

Creating and managing a project plan
C) WERFIE

Defining system specifications
D) EEEEFZZR

Managing the list of inventory changes

A) EiR. BHRmERIMELNIETA.
Incorrect. Programming software is an act of value creation.
B) &R, RITEEFIMERNTRIAR—RER .
Incorrect. Creating a plan for delivering value to the customer is not a form of waste.
C) iR, MWERIRLEAZFEINNE.
Incorrect. Defining the right specifications adds value to the customer.
D) IFff. XR—NEs), EFEEASERE,
Correct. This is an activity, the management of inventory, which in itself is waste.

17/ 40
B—FMEEIEEIE T 185 1R S AT RRITE W EKPI?

What board contains all necessary KPIs needed to steer the organization?

A) HiSEtE (Day board)
Day board

B) ESEtE (Week board)
Week board

C) A{EE1E (Month board)
Month board

D) XZE(EEE (Improvement board)
Improvement board

A) iHiR. BfSBIE (Day board) BTESEHIIE.
Incorrect. The day board is for steering the work on a daily basis.
B) IEffs. KPIERNSEE (Week board) EiERAI—INE.
Correct. KPIs are one of the things that are recorded on the week board.
0 R, BEEERAEX—M. —AXNTEXESHEEK.
Incorrect. There is no such thing. A month is too long for effective steering.
D) tHiR. MEERUE (Improvement board) RATiEHAIIE, MARMEEKPI
Incorrect. Improvement board is about monitoring the progress of improvements not KPlIs.
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THB—NTEAI AT 7 S EEsRFE2eRIAdE)?

What tool would be used to understand how much time is spent on value-added activities?

A) DMAIC
DMAIC

B) SIPOC
SIPOC

C) PCE
PCE

D) fEk#Em (Critical to Quality)
Critical to Quality

A) $EiR., DMAICETF##HARR,
Incorrect. DMAIC is used to solve problems.
B) #&iR. SIPOCAEFTREIEZALEE,
Incorrect. SIPOC is used to scope a process.
C) IFffs, PCERRTEERIIEER.
Correct. PCE is used to measure time usage.
D) f#&iR. CtQETENZEFEX.
Incorrect. CtQ is used to define the customer's requirements.

19/40
THIB—iE IR S RIRE N ?

What is a principle of Lean?

A) BN SCIZEF
The organization should be profitable
B) fMEEREFEX
Value is defined by the customer
C) RTHE
Employees are satisfied
D) ZFHE
Customers are satisfied

A) EiR. XARBmETN.

Incorrect. This is not a principle of Lean.
B) IEffs, XEBmErRN,

Correct. This is a principle of Lean.
C) iR, XAEEmEr TR,

Incorrect. This is not a principle of Lean.
D) iR, XAREmESTZN.

Incorrect. This is not a principle of Lean.
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THUB—IAE T KPIRYZERSERS?

What is not a requirement for a KPI?

A)

B)

9]

D)

A)

B)

9]

D)

21

STFHEIIRAT

Supports execution of the strategy
BRBRRIF—E

Consistent across the organization
FREZIEEN

Should be owned by the manager
B EHEIRARE ]

Controllable by the team

Hix, KPINSHEHEX.
Incorrect. A KPI should be related to the strategy.

Hix. KPIXITFRATE AMCHIENXZEREA.
Incorrect. Everyone using a KPI should use the same definition.

IF#. KPIEREIRATIFEIAZIER R,

Correct. KPIs are owned by teams not the team manager.

Hix, KPIITFATEAMENEXZEE.

Incorrect. A team should not be measured on a KPI it cannot influence.

/40

HARITERRRBEER?

What is the key production factor within IT?

A)

B)

9]

D)

A)

B)

9]

D)

RE
Quality
A
Time
2354
Money

RS

Services

EiR, REARETER,

Incorrect. Quality is not a production factor.

IFffs, BERRITINERAHEEREE.

Correct. Time represents the amount of skills working within IT.
Hix, SHREETER, BARITHIXEER.

Incorrect. Money is a production factor but not the key factor for IT.
EiR, REARETER,

Incorrect. Services are not a production factor.

=%IN
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fErgmietY (Lean transformation) =1, ITAMAAIEE(CZEERIER?

In a Lean transformation, how can IT serve as a major catalyst for change?

A)

B)

9]

D)

A)

B)

9]

D)

EREPFEEN
Everyone needs computers

ER(ERETBINER (Value Stream)

Information enables all Value Streams

HEAREANEREE

Access to the Internet is vital

ITSFBEARRBEX

IT touches everyone

Hix, FIFESUOLL.

Incorrect. This is not true in all cases

IEff, ITSRRIEEREXRETE, MERNEEEVEN.

Correct. IT is vital for efficient information flows and information is necessary for change to
happen

Hix. FAFSEALL.

Incorrect. This is not true in all cases

iz, BAXAIRERER, EAMRITREEIZENRE.

Incorrect. Although this may be true, this does not mean that IT is a major catalyst
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%8

EFIAIIR (S&K) HTHIBRIZHA?

What is the purpose of a Skills & Knowledge (S&K) analysis?

A)

HIESHEERIRERRI N ARREITX (Personal Development Plan)
Produce Personal Development Plans aligned to S&K

B) REREPBERMAERNASEINERER K>
Enable segregation of duties according to customer demands and S&K
C) HRIER T{RiFIEFIAERTR
Develop S&K in line with employee preferences
D) IEFFEMFRIREERNR, BRI TR RANMERYHAE
Develop the right amount of S&K to provide the value that customers expect from IT
A) R, XAEXEERIROHTHIERY, NNVARTSERRBERTRAEME4E,
Incorrect. This not a purpose of a S&K analysis. It is possibly the NNVA that results from a
S&K matrix.
B) &R, XSRS ESCIAY BirEiEnmit.
Incorrect. This is the opposite of what the S&K matrix is trying to achieve.
0) IR, XAEREERNRDMERINERENR,
Incorrect. This is not the direct effect sought by a S&K analysis.
D) IFff. BERNROITRENSSISEEEZREENRBEMNRIARE, NMAZFEIENE.
Correct. A S&K analysis should lead to the development of teams of multi-skilled people who
can deliver the value to the customer.
24 /40

T —IABETEEES (Value-Added activity) ?

What is not a Value-Added activity?

A)

B)

9]

D)

A)

B)

9]

D)

INEEEE 7S

Coordinating an incident resolution
FRESmSHT

Carrying out an impact analysis
EAvAIISlhpdl

Creating a project plan

B miE

Programming software

IEfs, RAESBEE.
Correct. NVA activity.
Hik. EISEEN.
Incorrect. VA activity.
Hik. EISEEN.
Incorrect. VA activity.
Hik. EISEEN.
Incorrect. VA activity.
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B—IAR R AEm ER?

Which is not a goal of Lean?

A) BUHEFINME

Improving customer value
B) et

Continual improvement
C) BRE

Reducing waste
D) #&F)iE

Increasing profits

A) iR, XEfEmB.
Incorrect. This is a reason of doing Lean.
B) iR, XEBEmBrR.
Incorrect. This is a reason of doing Lean.
C) #HiR, XEEmBR.
Incorrect. This is a reason of doing Lean.
D) iFff. FiEIEER (BHER) FmlER, EAZHTHERERE,
Correct. Profit may be (is hopefully) a result of Lean but not the reason for doing Lean.

26 /40
it (Flow) SMEIfELRERALL?

How does Flow simplify demand planning?

A) ETHRENKIER

By freezing the planning horizon
B) EITHEZFHEK

By meeting customer needs
C) BiSYaraAikIHEn

By shortening the planning horizon
D) BIEVHITAI(E

By removing wasted effort

A) iR, XEJREERITE (Muri) .
Incorrect. This would cause overburden (Muri)
B) iR, XEBEmBrR.
Incorrect. This is a goal of Lean
C) IEfa, WBIHRHR, FrmaIfixEA KR,
Correct. Flow means working with single piece flow. The amount of planning needed is much
lower.
D) iR, XEBmAISRBER.
Incorrect. This is a general aim of Lean
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&R (Kanban) ~EIEIEEMTA?

What is the purpose of a Kanban card?

A)

B)

9]

D)

A)

B)

9]

D)

A= FEAT mERSZIRES

To communicate the status of the product or service to the customer

BRI EPA RS IR

To inform the process about the progress of the product or service
BigREPRYRRET AL

To visualize the loop holes in the process

FINRFSPERHENA T SO RS

A manual back-up system for if the computer system fails

BiR. BNIEPERBEREFEE IR,

Incorrect. The status of the product is not communicated to the customer throughout the
process.

IEff, fEEF- g, BERFMIZEIENR (Kanban) R, HEHERRIAE.

Correct. During the production process, information is added to the Kanban card, accurately
showing the status of the product.

iR, mRETSHNERE LI,

Incorrect. Loop holes are found in mapping value streams.

R, B (Kanban) F{RARIRSHIAL.

Incorrect. Kanban ensures that the status of a product is visible

28 /40
B—IERE e RIEE T mAIEFHEK?

What is most likely to be a customer requirement for a specified product?

A)

B)

9]

D)

A)

B)

9]

D)

ERHIE
The product is built in an efficient way

R A IS
The product is cheap to build

IREIHAZ
The product meets expectations

IRSH5E

The product is reliable in service

HiR, BP—RAXERAMEHIE,

Incorrect. The customer generally does not care how a product is built.
HIR, AERIXHF,

Incorrect. Not always true.

IFHfy, XRRZEFREMMERIEN.

Correct. This is the definition of providing values to a customer.
IR, JREEMRY, (ERRREEEN.

Incorrect. Probably true but not the most important requirement.
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B—EIEFXIidE (Overburden) (Muri) BIENX?

What is a definition of overburden (Muri)?

A) ZIBFERZEHL
Managers are not able to plan correctly
B) BT ARTIEEARIEDR, TiEREZFER
Inability to meet customer demand due unrealistic workloads on people
C) RITAHET—LI/E
Employees are uncertain what to do next
D) xR RENAIE T ZRIK R ST EHR

Long system upgrade cycles encouraging user workarounds

A) $#EiR, HTRORZEEMERRIEIETT AR AR TIIE.
Incorrect. Not overburden - managers are unable to plan accurately due to lack of
transactional data.

B) IEff. SHFMERIRbRERERBIESINERTA.

Correct. Overburden means not having the right resources available at the right place or time.
C) iR, ARIH, MRRZFR,

Incorrect. Not overburden but a lack of knowledge.
D) {#&ix. A2dH, MERERRA.

Incorrect. Not overburden, a cause of waste.

30/40
PP R =PRSS P EMAIIE?

Which list contains examples of what a customer values in a service?

A) N8, ETERMERIRATE
Pricing, Reliability and Timeliness
B) &%it. IREm (features) FORAIAIME
Design, Features and Availability
C) tUF. EMMEE
Innovation, Completeness and Operation
D) #&z(. BRI

Model, Achievement and Accuracy

A) IFf. SREPNMER.

Correct. See list of customer values.

B) &R, SUEFMMER.

Incorrect. See list of customer values.

0 i#ix. 2WEFPNES.

Incorrect. See list of customer values.

D) &R, ZUEFER.

Incorrect. See list of customer values.
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B PNDMAICHERSFFEIRIESHT (Root Cause Analysis) ?

In which DMAIC phase would a Root Cause Analysis be carried out?

A) EX (Define) BER
Define

B) M= (Measure) FiE
Measure

C) o (Analyze) BHER
Analyze

D) &t (Improve) KBk
Improve

A) iR, RBENESTTHREXRIAS.
Incorrect. It is not possible to analyze what has not been defined.
B) &R, IRBEINEDHTARNERETE.
Incorrect. It is not possible to analyze data that has not yet been measured.

C) IFHa. SRS 7 EERARARE.

Correct. The Analysis phase is meant to understand root causes of a problem.

D) t5iR. fEHUH (Improve) MEFAICENIE T TRIE.
Incorrect. In the Improve phase we know the root cause.
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MEERFZEI BITEAHSH—FNERE,

AL A ARSI /S TR B tHIR?
Learning from mistakes is one of the ways an IT organization can make progress.
Which of the following statements represents the Lean way of dealing with mistakes?

A) TIT%F:EP ?‘Zﬂ]/\/_\EﬂJA, lu\ZTzB%ﬁ

In IT, we are only human, we all make mistakes

B) ITEEREMIGEEHHRTThSIH T

IT management must focus on ensuring that improvement work is done

C) FMER"E"CANERICANEIEN RE EEE

It is more important to know WHO made a mistake than WHY it occurred

D) EAT{FHELLERIEE, BUieTEN

Mistakes are an inevitable part of work, but must be taken seriously

A) EiR. BmlITASBEANAEICENER.
Incorrect. Lean IT does not see being human as a reason to make mistakes

B) IFff. f&ml THUREIEEERSEEHIEN RS OMER.
Correct. Lean IT sees a central role for management in institutionalizing improvement
activities

C) iR, EAEmITH, HBERERRZRENEE,

Incorrect. Why a mistake occurred is always more important within Lean IT

D) $HiR. faml TAAEIRA g,

Incorrect. Lean IT does not see mistakes as inevitable
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IMERA BRI EEEERHA?

What is a major possible barrier for the value flow?

A)

B)

9]

D)

A)

B)

9]

D)

Muri

Muri
Poka-yoke
Poka-yoke
EHR (Kanban)

Kanban

Bt (Jidoka)
Jidoka

IEff, MuriBlids (EL(FERETIFEERAATER) , SMuraf—HEERE— R ER
18, %EE2SHMudar=EaEr- HiREr .

Correct. Muri or overburden (in working procedures and work hours) is, together with Mura or
inconsistency and variation, a major barrier that can lead to Muda and the production of
defective products.

#EiR, Poka-yoke2AJ BT BMRENEmETE.

Incorrect. Poka-yoke is a Lean tool that can be used to help eliminate waste.

Hix., BR (Kanban) EEMESHESRETMN, % EEWRATENEGEIETE,

Incorrect. Kanban is signal or sign board used for conveying information about picking up or
receiving the production order.

gix. "BEML" (Jidoka) RIESALEERIERNME (automation with a human touch) .
Incorrect. “Jidoka" or “Autonomation” means automation with a human touch.
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CTQMHBERZEHA?

What is the CTQ tree used for?

A) ERMEITIMREPRIRZI RS EXREERIRARLS

To describe the technical systems that are critical within IT for delivering services

B) ITRRILIRF MM NEFINME

To translate the constraints in IT to customer value
C) KBEFHZEH#N AR EENREERMLERD
To translate customer expectations to measurable internal objectives and activities

D) #RIAEIEFMERFRAIXEEKPI
To describe critical KPIs necessary to meet customer value

A) iR, CTQEEFMERX, MARIUREEXREEMIRARL.
Incorrect. CTQ is related to customer value not technical systems that may be critical.
B) &R, fAlatER.
Incorrect. It does exactly the opposite.
C) IEffh. XERCTQRMIIEN.
Correct. This is the definition of a CTQ tree.
D) iR, KPIHEFEECTONIRE, (EARCTQNMAIBTR.
Incorrect. KPIs result from the creation of a CTQ tree, but this is not where it is used for.

35/40
% (Overburden) BIENXZEHA?

What is the definition of overburden?

A) FTIFERIEIRR

Incapability to solve problems
B) TEEEEERRREZFHER

Inability to meet customer demand with a certain resource
) ZFREBERISHEERAR

Inability to manage people based on situational leadership
D) XITEAEIGAIIETRE T 7

Lack of understanding of the challenges of the IT organization

A) EIR., EXAIER.

Incorrect. Not the correct definition.
B) 1Ffj. 2EHAIEN.

Correct. Definition of overburden.
O iR, EMAIEH.

Incorrect. Not the correct definition.
D) {HiR. TEXALIER.

Incorrect. Not the correct definition.
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BB—INAZE7 P85 (Six Sigma) RYB#FR?

What is not a specific objective of Six Sigma?

A) ST
Statistical analysis
B) fRIRIBIRA
Problem solving
C) 1T
Behavior and attitude change
D) A L

Reduction of variation

A) iR, NEEEIBETHITOT.
Incorrect. Six Sigma is based on Statistical analysis.
B) &R, 7\FUSIDRAREDHT.
Incorrect. Six Sigma uses root cause analysis.
C) IEf. 7 Pai&ES (Six Sigma) RKREXBANSESITA.
Correct. Six Sigma does not focus on changing the attitude and Behavior of people.
D) $5iR. 7<FGi&I3 (Six Sigma) LAURMDEREZTIEABR.
Incorrect. Six Sigma aims to reduce variation in processes.

37/ 40
P—IEEF2ZA (Voice of the Customer) (VoC) TEMIFEIER?

What is a purpose of Voice of the Customer (VoC) tools?

A) FBREEFRIKREMTEIFIBRR
To set priorities and goals consistent with customer needs
B) Ak@EdHEI NERREZREEFITRETIFRIdu
To identify areas where work can be started on eliminating waste
C) FKRICRHAEAAERATREE
To document and categorize the costs associated with waste
D) FskinEfmVoCEAR ARIRCELER

To facilitate the feedback of summary results to VoC contacts

A) IEffs, XMRVoCTENMAE.

Correct. This is a purpose of VoC tools.
B) iR, XA EVoCTENMAIE,

Incorrect. This is not a purpose of VoC tools.
C) $#HiR. XARVoCTERIAIE.

Incorrect. This is not a purpose of VoC tools.
D) iR, XA EVoCTENMAIE,

Incorrect. This is not a purpose of VoC tools.
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AT TITEREMNS, RRIEEEmEr RS Z NI EE?

Why is it important that IT management deeply understands the principles and methods of
Lean?

A)

B)

9]

D)

A)

B)

9]

D)

BRI TARSSRY AT Rt

To create sustainable improvements in IT services
ANTEFRIEATRER

To quickly deliver results for IT customers
AITHRLREBRAIRE BiR

To set goals for the teams within IT

TR RIRISATEREERYNME

To ensure shareholders get the value they expect

IFffs, —BEBETREZRES AN, NTFRANNERRMASE TS .

Correct. When management understands Lean, it will not be a temporary 'thing' for the rest of
the organization.

Hix. BAREZMMERTOEE, BEMHAITFLIEEMNEE,

Incorrect. Although quickly delivering results is important, sustainability of improvements is
much more important

Hix, BRAREBNTSDER, BESANARFREENEE,

Incorrect. Goal-setting is important, but sustainability of improvements is much more
important

Hix. BRRNMERFESGHITIRS AR EEFREESNHERNER.
Incorrect. Shareholder value is a result of sustainably improving IT services and thus providing
more value to customers.
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39/40
B—IENE(EEE (Improvement Board) AUMIAFIH{EELE (Day Board) AYIH?

What is input of the improvement board and output of the day board?

A) %538 (Performance) 54 (Progress)
Performance & progress
B) HIBAKPI
Team KPIs
C) HEBR
Objectives for the week
D) jaR%
Problems

A) EIR, XNEEAREER, BITER.

Incorrect. This answer may be correct but it is too generic.
B) iHix. EIRAKPIZEIEREIE (Week board) A,

Incorrect. This is the specific output from the day board to the week board.
0 i#Hix. SFABRCREBERE (Week board) L.,

Incorrect. Objectives of the week are aspects on the week board.

D) IFffy. RIEEZHAISRAIH, FHENKEERE (Improvement board) BJHEIA.
Correct. Problems are identified during the day start and used as input for the improvement
board.

40/ 40
ETEERERD, REYURINRERMTA?

When work is not done efficiently, what is most likely the cause?

A) IT
IT
B) R=WSH
Lack of leadership
C) mREX(E
Poor designed processes
D) RZER
Lack of information

A) iR, BITRERNITARRARER, BERUERRA.
Incorrect. Poorly working IT may contribute to inefficiency but is not necessarily the cause
B) &R, MSHMETBERAIRER, BERUZERA.
Incorrect. Poor leaderships may contribute to inefficiency, but is not necessarily the cause
C) IEff, AEXERNEETHERREZ—.
Correct. Poor designed processes are one of the principal causes of inefficiency
D) &R, RZERAIERTETENERE THIERE—, EAE&ETENREA.
Incorrect. Lack of information may be one of the symptoms within a process that causes
inefficiency. It is not the most likely cause
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TR AREFBERER, HEEERA,

[ =f 3 [0 E 3
1 D 21 B
2 C 22 B
3 A 23 D
4 D 24 A
5 B 25 D
6 B 26 C
7 B 27 B
8 D 28 C
9 C 29 B
10 C 30 A
11 C 31 C
12 B 32 B
13 C 33 A
14 D 34 C
15 A 35 B
16 D 36 C
17 B 37 A
18 C 38 A
19 B 39 D
20 C 40 C
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